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b) Explain the objectives of Acceptance sampling
and its advantages. ' ’ 6
wHgpfa uftrays & Igal H FHsd U IED
@TH1 &1 auie Hifo @

8.  Write short notes on any four of the following :

4% each
1) Therbligs
1) O.C. Curve
1) Sampling Plan
iv) Quality control
v) Micromotion study
vi) Reliability
Frif3mEa 4 @ =g ar R 9idm Rofrat @
i) erdfer

i) 3 . aw
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FIFTH SEMESTER
PRODUCTION ENGINEERING
SCHEME JULY 2009
INDUSTRIAL ENGG. AND QUALITY CONTROL.

gpvoenline.com

Time : Three Hours Maximum Marks @ 1 00;

W

Note : (1} Attempt total Six questions. Question No. 12
(Objective type) is compulsory. From lhcg-
remaining questions attempt any five. <

PeT B: U & HIIC| e IS | (a8

wepR 1) At ) 9 ueA ¥ ¥ Rl U™

H & DIAT

(1) In case of any doubt or dispute. the English

version question should be treated as final. £

foredt +ft wrepR & wg e faarg B Rufd 33

YA W & e & 3ifew " SR g

I. Choose the correct answer, 2 each%
g I P g Hfow) g

) Valwe of 1 TM.U is: 2

(a) 0.06 minute (b) 0.006 minute -

(¢) 0.0006 minute (d) 0.00006 minute
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@ . W 3, P A B 8 Rt 2 aRenfe St
(31) 0.06 fire (3L0.006 forre ) sae WU A
(/) 0.0006 e (%) 0.00006 fire g ii) IR B e
if} Which one of the following should be the value § i) F1. 1 SR
of productivity? E
(a) Equal to one (b) Less than one 3 7. @) During stop watch snap back method of time
. - 5 study, the a head elements time were recorded.
(c) More than one (d) Fraction of one 3 If the total relaxation allowance is 15%,
Prafafed § & Seaewar 1 S-91 79 2T E Calculate the standard time for the Job:-
afRu? T ad VY 4 23R & & SRF o il
() 0 ¥ - Al &1 W9y eI afg st mn
R | afe o1 GRET g2 15% B, & Sife @1 797% w9
(W) & 79 o A _
(W) v | siftre = Elements Cumulative Observed rating
[ z time in min. -
ity The symbol of Insoection : o g W M/ s
i1 e . . : a
sym .0 nspection is: : (fey &) A
e & Spa 2 E 5 A 0.15 60
5 B 0.30 70
@) :
®) ¢ E C 0.40 100
3 D 0.60 110
© \/ @ F 070 40
F 1.00 120
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What do you understand by material handling?
What is the requirement of good material
handling system and write its effects on

productivity? @ 12
garef gEaRT ¥ U F wHed 2, orest ugref
BERY EE] $ qE AEWHEAY Fa ¢ W
TP JeqIeHal R TG FATET

What do you understand by Job Evaluation and
write its objective. G\ 6

R eI W T T FEA R, TF §P R
farflau

Prepare a control chart for number of
lefectives in a daily production for 20 days as

C
"4given below: 12

b)
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15.5.1,4,3,1,3,0,5,6,7,4,3,5,1,10,1,5,0,5
Sy Seare & Qg awqa B wn 20 R B
farg PR 2, g8 forg Fsor ad @ gu
15.5.1.4,3,1,3,0,5,6,7,4,3,5,1,10,1,5,0,3
Define the following terms:- 2 each
i) Double sampling plan

ii) Producer’s risk

ii1) Consumer's risk

Contd.....
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iv) In a normal distribution curve, the maximum

area is included in:
AT Raww o 8§ -t @ | srftmad
TR HT 8?7

(@) X+o (b) X +2¢0

() X +30 (d) x+30

Who is the father of Industrial Engineering?
(a) Gilbreth (b) F.W. Taylor

(c) Gantt (d) Halsey
st Sifad @1 s Ry oE S 22
() freder (&) . 3=, TR
(w) Ave (z) T

What are the factors which are to be considered
for preparing a good plant layout? Compare
product layout and process layout. 12

arenT o At R B & g e Rgai
 REr R s @2 sag s @ wed
Fftar &t gar S @)
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b) Listany five material handling equipments with
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b) Write five principle of motion economy and

their_ a{plica!ion. | define motion economy. 6
afta R %
@
a) Compute the average and standard deviation of E %
the following distribution, which shows the E a) What do you understand by control chart? ]nh
resu]ts.uf the measurement of resistance of = woollen pieces of 3x10 metres the followin
500 units of a certain electrical product. 12 D numbers of defects we b gm
: 5 re observed. Plot an g
500 swTEa & fedt fera ggref & Ry a99 2 appropriate control chart and give your®
s A A ™ #1 g Rrerwr @ st den conclusion. 12
a1 fdgem sna $ifvm 7,12,3,20,21,4,5,3,20,7,6,9, 0, 8 and 10
Resistance Frequency o o X omg Far wws 27 o PIR F
(in ohms) . '
_ 3x10 HeR gFel W wR% & frafafag v o
e o ufeRy Fgfe - mm@g,wmmfﬂgwms
2.7-29 02 | Prepd A1 ;
3.0-3.2 16 g 'E
: =
33-3.5 46 & 7,12,3,20,21,4,5,3, 20?69033?&?105
3.6-3.8 88 3 2
39-41 138 % b) Deflr:ie the term method study and its 3
4.2-44 113 2 procecres. ¢ -;
45-4.7 71 - s w2t @ Rafia PR sk 7o Ay o &
48-50 22 e -
5.1-53 04
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